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Circle Q has radius 7 and is centered at the origin. Does the point
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For the following exercises, write the equation of an ellipse in standard form, and identify the end points of the
major and minor axes as well as the foci
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For the following exercises, graph the given ellipses, noting center, vertices, and foci.
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For the following exercises, use the given information about the graph of each ellipse to determine its equation.

Center (—3, 4) - vertex (1, 4) - one focus: (—3 + 2\/3, 4) (—- 5,40
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For the following exercises, given the graph of the ellipse, determine its equation.
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865 . An arch has the shape of a semi-ellipse. The arch has a height of 12 feet and a span of 40 feet. Find an
equation for the ellipse, and use that to find the distance from the center to a point at which the height is 6

feet. Round to the nearest hundredth.
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